x?/ ndf = 1.65e+002 / 194

Prob

18

Const

A
r (fm)
[

9.34e-001
9.17e-001+ 1.24e-002
5.93e-001 + 3.26e-002
8.07e-001 £ 6.39e-002
5.01e-002 + 9.56e-003

085704 06 08 1 12 14 16 1 2
q (GeV)
X2/ ndf = 2.36e+002 / 194
2 Prob 2.11e-002
C Const  9.54e-001 + 2.39e-003
18— A 2.50e-001 + 4.61e-003
L r(fm)  7.84e-001% 2.52e-002
16 5 2.80e-002 + 1.74e-003

14—

X2/ ndf = 2.32e+002 / 194

Prob

1.8

16—

Const
A
r (fm)
)

3.37e-002
9.38e-001+ 2.99e-003
3.31e-001+ 5.32e-003
7.55e-001+ 2.11e-002
3.86e-002 + 2.24e-003

2.39e-001

08 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8 2
q (GeV)
X%/ ndf 2.08e+002 / 194
2 Prob
- Const 9.50e-001+ 3.78e-003
- N 2.45e-001+ 6.39e-003
18 r (fm) 7.11e-001+ 3.28e-002
F 5 2.99e-002 + 2.65e-003
16—




